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MCQ BASED QUESTIONS
(75 forerea-smmaTia w)

Class - 08 Subject - Mathematics F.M.-50 Time 1 Hour

(- 08) (R - 7o) (Ti5-50) | (- 1 i)

INSTRUCTIONS/féw :
¢ There are 50 Multiple Choice Questions.
FT 50 g FAshea-ameamRa 7 2 |

¢ All Questions are compulsory. Each question carries 1 mark.

T o7 3 I AMATT gl T—F: T 70 Uah 3 [Heig gl

+ Four options are given for each question, choose one of the correct option.

T T % AT [Fed QU MU, TTH H U Hel (dhed hl T4 Hel

¢+ There is no negative marking for any wrong answer.
AT 3L % ToIT Fls 3i Agl TS SATU|

1. 5 &1 IUNEHP Ufcid (Faha) ron-
The multiplicative inverse of 5 will be-
(@) =5 (b)
() = (d) =
2. JOEHE 1 mmﬁ%%v%aﬁ%a@wmaﬁm?
What should be multiplied by % to get the product 1 ?

(@) = b) =2

-1
5
1

23 7
23 7
() — (d)  —;

3. foafolRaa & ¥ Prer aof dz=m =&t 2 2
Which of the following is not a square number?
Page 1 of9



(a) 12 (b) 121
(c) 12321 (d) 1234321

441 T4 484 B dg Thaelt gof aof dzam 2

4.
How many perfect square numbers are there between 441 and 484?
(a) <= (0) (b) ws (1)
(c) = (2 (d) de (3)
5. TP qonpr Hef foraat v fbeer 5 #fto 31 af 33 wet &1 sowet ... gl |
A square floor whose one side is 5 m. Then the area of its floor will be..........
(a) 5 @to (b) 25 3o
(c) 25 aef Fo (d) 25 qot zHEE
6. (-7)3 BT A =1 BN ?
What will be the value of (-7)3?
(a) —243 (b) 343
(c) 143 (d) —343
7. 2% 2 X2x3x3x3x4x4x4 BT GAHA T IO ?
What will be the cube rootof 2x 2 x2x3x3x3x4x4x4 7
(@) 2 (b) 3
(c) 4 (d) 24
8. U®d QUi a” P fow m wEcar B:-
For an integer a™ , m is called:-
(b) 3@z (constant)

(a) amear (base)

(c) ==z (variable) (d) =i (Exponent)

2
9. 3 BT IO FchA B

.y . . 2 .
The multiplicative inverse of 3 IS :-

-2 2
(@ (b) 3
() = (@ =
10. a"Xb"P wWER EPm-
a™ X b™ will be equal to:-
(@) (a+b)" (b)  (a+b)*™
(d) (ab)"

(c) (ab)*™
11. g 4A+B3=55dr A 3R B & & HAY: -

If 4A + B3 = 55 then the values of A and B are respectively:-
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(a) A=2B=3 (b) A=2,B=1
(c) A=1,B=2 (d) A=3,B=2
12. AR’ 234x IJ|T 6 A faersyr &1, a1 x BT AT B
If the number 234x is divisible by 6, then the value of x will be:-
(@) 3 (b) 6

() o (d) s
4 . .
13— X' HeAAD IliH 2l
The numerical coefficient of %xz IS
(a) 4 (b) 7
(c) - (d)  ax

7
14. (a+b) (a+b)®r e Blom:-
The value of (atb) (a+b) will be:-
(a) a*b? (b)  a*+b?
(c) (a+b)? (d) (a-b)?
15. (a+2)%*epr A gom:-
Expanssion of (a+2)? are:-
(a) a’+4 (b) a%4
(c) a*+2ab+4 (d) a*+4a+4

16. 5a°b &I A IR B:-

All factors of 5a%b are:-

(a) 5xa’xb (b)  Sxaxaxb
(c)  5xaxb? (d)  Sxaxaxa
17, oo & UErss (x+a (x+b) B:-
The factor of (x+a) (x+b) is:-
(a) x*+(a+b)x+ab (b) x>-(a-b)(x-ab)
(c) x>-(a+b)x+ab (d) x*+(a-b)x+ab

18. U Wad AMBT B fbdad &cT al JAbd & ?

How many solutions can a linear equation have?

(@) ws (1) (b) @ (2
() o= (0) (d) = (3)
19.  5x+7=2x+8 JHIPIUT BT &cT =T & ?
What is the solution of the equation 5x+7=2x+8 ?
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-1

(a) x= (b) x=—
(c) x=3 (d x=1

20. 50 37l & AHE A 40% 3H UD gU &, UP gU 3T @ JXAT fereatcaa o
groft:-

In a group of 50 mangoes, 40% mangoes are ripe, the number of ripe mangoes will be
among the following:-

W | =

(a) 4o (b) 50
(c) 30 (d) 20
21. Gl UIAT TRF B o W uRetera fer amar 21
(a) fawper e (b) wa e
(c) sifea s (d) sifaRe ==
Discount percentage is calculated on the ........ of the item.
@ selling price (b)  costprice
(c) face value (d)  additional expenditure
22. ;C—]=k A k B Ped -
(a) Igories (b) atmordBet
(c) Rerdiem (d) ot & ®ig =
5 = k where Kk is called-
(a) coefficient (b) quotient
(c) constant (d) None of these

23. I x 3R y & UfaAH IgUd F &, ar -
If x and y both are in inverse proportion, then :-
(@) x=ky (b)

() =xy=k (d)

4
k

=k

QR W

24. IR} fHA agefsr & AN PO A A UAF BT 90° D WER B, d AT BT -
If each of the three angles of a quadrilateral is equal to 90°, then the fourth one is

(a) 180° (b) 135°
(c) 4s5° (d) 90°
25. o & F 5T agye & fov et avreR &l 2 2
(a) e (b)  wFEgee
(c) JHIR agefst (d) amra

For which of the following quadrilateral the diagonals are equal ?
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(@)  trapezium (b) rhombus
(c) Parallelogram (d) rectangle

26. Tt wges @ BT H Aot fbdem Blem B 2
What is the sum of the angles of a hexagon ?

(a) 180° (b) 360°
(c) 540° (d) 720°
27. foea & A 53 A& US IgHmoia! @l Jofor ?
(@)  afre (b) 2Frge AR fia JAAIGR TG
(c) sfrger (d) 1days AR sBree
Which of the following will not form a polyhedron?
(@)  3triangles (b) 2 triangles and three parallelograms
(c) 8triangles (d) 1 pentagon and 5 triangles
28. fooar Bifaeir ameR 3 ofid =l & 2 2
(a) Trfas (b) o=
(c) <ig (d) ~ ofer
Which three dimensional shape does not have a vertex?
(a Pyramid (b) ~ Prism
(c) Cone (d) ~ Sphere
29. 3= BT &IAB = ?
(@) 4 x ofam (b) %xsnsm x HaTS
(c) ciwrg x e (d)  2x (c@E + AR
Area of rectangle = ?
(@  4xside (b) > x base x height
(c) length x width (d)  2x (length + breadth)

30. J9f @ TP ool Bl ciarg 25 Aelt B, dF THwT uRAT @@ or ?
If the length of one side of a square is 25 cm, then what will be its perimeter?

(a) 625 aoideR (b) 100 TefAR
(c) 5 Jit (d) 100 A
31. A sl orradt diq faend Bt 3, Pt sl weandt 8 2
(a) fTofaet (b) e
(c) Sude <l (d) st & B3 @
What kind of shape is that which has three dimensions called?
(@  Two dimensional (b) three dimensional
(c) Both of the abowe (d)  None of these
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33.

X ST aleT §el BT YOI &EIhel Blom:-

The surface area of a cube of side x will be:-

(a)
(c)

4x?

X2

(b)
(d)

6x°

61

3ffbe 9,8,4,3,2,1,6,4,8,10,12,15,4,3 &I TRAT &:-

The range of the data 9,8,4,3,2,1,6,4,8,10,12,15,4,3 is:-

(a)
(c)

15
12

(b)
(d)

14
10

34. X- 36T A 3 THIE Bl gI UT dAT Y- 38T A 6 TPE Pl g W Roa g &
forderis 2:-

Find the coordinate of the point located at a distance of 3 units from the x-axis

35.

36.

37

38.

39

and 6 units from the y -axis

(a)
(c)

(a)
(c)

(0,3)
(3,6)

0.0081 T JaleeT Bl ?
Find the square root of 0.0081.

9.0

0.09

(b)
(d)

(b)
(d)

(6,0)
(6,3)

0.9
Faft

Al AP dof T B arg fbdent qof gof Iem Bkt B 2

How many perfect square numbers are there between two consecutive square
numbers?

(a)
(c)

0
2

(b)
(d)

1
3rafdreda

. f5a1 Rpew 3 2/3, 11/15, 5/12 @B 3AAE BA F 37 9T B 2
In which option 2/3,11/15, 5/12 are placed in descending order?

(a)
(c)

2/3, 5/12, 11/15

11/15, 2/3, 5/12

(b)
(d)

5/9 + (-8/9) @1 A FerafoRaa & wm &om ?

5/12, 2/3, 11/15

11/15, 5/12, 2/3

What will be the value of 5/9 + (-8/9) in the following?

(a)
(c)

13/9
1/3

(b)
(d)

-1/3
3/9

. If¢ a=-1 3R b=2 @ d@ra’x b® &1 &A1 w Forr ?
Ifa=-1and b =2 then what will be the value of a® x b??

(a)
(c)

1/2
-3/2

(b)
(d)

2
-1/2
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40.

41.

42.

43.

44,

45

46.

47.

120° & DI Pl BaEd -

(@) =& B (b)  FHBIOT
(c) 3 @ror (d) YR® @
An angle of 120°is called: -
(a) acute angle (b)  right angle
(c) obtuse angle (d) Complementary angle
AT DI & ?
(a) denfer (b)  chafdsmedt
() et (d) oforas
Who is "Ramanuja™?
@ Scientist (b) Biologist
(c) Chemist (d) Mathematician

J&=Mabc B T e I 22

Which is correct for the number abc ?
€)) atb+c (b) a+10b+100c
(c) axbxc (d) 100a+10b+c

foreafeRad & J dia fgudt dichy @i 3:-

Which of the following is a binomial algebraic expression:-
(a) x>-1 (b) 2xy

(€ xy (d)  2xy

Tl BT [ ORI &5l BN JA oim

The formula for the total surface area of a cube is:-

(@) 2mrh (b) 2 mr(h+r)
(c) 4Pk (d) 6k

foreafoRaa 3 eeere aRFAT dw=m B -
Among the following, a positive rational number is:-

() - (b) =
-3 4

() - (d) ¢

32.768 T Tl AT BN i—

What will be the cube root of 32.768 :-

(@) 3.2 (b) 3.3

(c) 3.5 (d) 3.6

2 s =2 & Do wme & @ den?

25 25

;_; + () = _2—151 What will fill in the blank space ?
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(@ 7 (b)
() 2 (d)

| W
ul

@ |

The square root of 0.25 will be :
(@) s (b) 5.0

(c) 0.5 (d)  o0.25
49. gie 2¥3=2 2, a1 x & A Bom-
If 2**3=2, then the value of x will be:-

(a) 4 (b) s
(c) 3 (d) -2
50. ferger & Pl 3D 3MHiT BT IEIT 8-
(a) ofem (b)  ef
(c) 3maa (d) =
Which of the following is an example of a 3D figure:-
@ sphere (b) class
(c) rectangle (d) triangle
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Answer Key

Q.No.| Ans l\?o Ans l\?o Ans I\?o Ans I\?o Ans
1 d 11 b 21 c 31 b 41 d
2 c 12 b 22 c 32 b 42 d
3 a 13 c 23 c 33 b 43 a
4 a 14 c 24 d 34 d 44 d
3) c 15 d 25 d 35 c 45 d
6 d 16 b 26 d 36 a 46 a
7 d 17 a 27 a 37 C 47 d
8 d 18 a 28 d 38 b 48 c
9 C 19 a 29 C 39 a 49 d

10 d 20 d 30 d 40 c 50 a
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Jharkhand Council of Educational Research and Training, Ranchi

ANNUAL EXAMINATION
Session: 2024-2025

Model Question Paper

CLASS-8 SUBJECT- ENGLISH TIME- 1 HOUR FM.- 50

Read the Unseen Passage given below and answer the questions that follow: - (Q.no.1-
10)

In the heart of a bustling city, there existed a small, neglected park that had long been
forgotten by its residents. Once a vibrant space filled with laughter and the sounds of
children playing, it had transformed mto a shadow of its former self. Weeds grew rampant,
and the playground equipment lay rusted and broken. Despite its dilapidated state, the park
still held an undeniable charm. Tall trees provided shade, and wildflowers bloomed in
unexpected places, adding splashes of color to the otherwise dreary surroundings.

One day, a group of enthusiastic volunteers decided to revive the park. Armed with
gardening tools, paintbrushes, and an unwavering spirit, they arrived early in the morning.
Their laughter echoed through the empty space as they worked tirelessly to clear away the
weeds and repair the playground. As the days turned into weeks, the park began to
transform. Children returned to play, families gathered for picnics, and the airr was filled
with joy once more. The volunteers not only restored the park but also rekindled a sense of
community among the residents. They realized that sometimes all it takes is a little effort
and determination to bring life back to a place that once thrived.

1. What can be inferred about the park before the volunteers arrived?
A. It was well-maintained and popular.
B. It was completely abandoned.
C. It was used for community events regularly.
D. It had lost its appeal but still held some beauty.
2. Which word best describes the mitial condition of the park?
A. Vibrant
B. Neglected
C. Inviting
D. Enchanting
3. What motivated the volunteers to restore the park?
A. A desire for personal recognition
B. A wish to improve their community
C. Pressure from local authorities



10.

D. A competition among friends

What does "rekindled" in the second paragraph suggest about community spirit?
A. Tt was lost forever.

B. It was temporarily strong,

C. It was revived after being diminished.

D. It never existed before.

Which of the following phrases indicates that the volunteers were committed to their
task?

A. "Armed with gardening tools"

B. '"Their laughter echoed"

C. "Worked tirelessly"

D. "The air was filled with joy"

What grammatical error is present in this sentence from the passage: "The playground
equipment lay rusted and broken"?

A. Incorrect verb tense

B. Misplaced modifier

C. Subject-verb agreement error

D. No error

Which of these is an example of imagery from the passage?

A. '"Tall trees provided shade"

B. '"The park began to transform"

C. "Families gathered for picnics"

D. "Weeds grew rampant"

How did the transformation of the park affect local families?

A. They became more isolated.

B. They started avoiding outdoor activities.

C. They began to engage in community activities again.

D. They moved away from the area.

What does "dilapidated" mean in the context of this passage?

A. Newly built

B. In good condition

C. Falling apart or in disrepair

D. Brightly colored

Which sentence best summarizes the main idea of this passage?

A. Parks are important for children’s play.

Community efforts can restore neglected spaces and revive spirits.
Volunteers are always needed in cities.

Nature can thrive without human intervention.

oaw



II.

11.

12.

13.

14.

15.

16.

17.

18.

Read the questions given below and answer the questions that follow by choosing
the correct option for each: - (Q.no.11-25)

Which of the following sentences is grammatically correct?

A. The teacher, along with her students, were excited about the trip.
B. Each of the students have completed their homework.

C. Netther the cat nor the dogs are playing outside.

D. Everyone in the class have submitted their projects.

What is the purpose of a topic sentence in a paragraph

A. To provide a conclusion

B. To introduce the main idea of the paragraph

C. To add unnecessary details

D. To summarize the entire essay

Which of the following is an example of a simile?

A. The wind howled like a wolf.

B. The wind howled fiercely.

C. The wind was a fierce beast.

D. The wind howled all night long.

When writing a formal letter, which of the following should be included m the closing?
A. Yours truly,

B. Best wishes,

C. See you soon,

D. Cheers,

Which of the following transitions is best used to show contrast between two ideas?
A. Furthermore,

B. Similarly,

C. However,

D. In addition,

Which of the following sentences is in the active voice?

A. The book was read by Maria.

B. The cake was baked by my mother.

C. Maria reads the book.

D. The homework was completed by the students.

Identify the part of speech for the underlined word in the sentence: "She quickly ran to
catch the bus."

A. Noun

B. Adverb

C. Adjective

D. Verb

Which of the following sentences is in the past perfect tense?



19.

20.

21.

22.

23.

24.

25.

She has finished her homework.
They had left before I arrived.
He is playing football.

. Twill go to the store.

oOO0w >

What type of clause is underlined i the sentence: '"The book that you lent me was

fascmating"?

A. Independent clause

B. Dependent clause

C. Main clause

D. Relative clause

Which of the following sentences contains an infinitive?

A. She loves to dance.

B. He runs every morning,

C. They are studying for exams.

D. The dog barked loudly.

In ndirect speech, which of the following changes would be correct?
A. "l am going," he said — He said that he was going.

B. "She will come," he said — He said that she would come.

C. "They are playing," she said — She said that they were playing.
D. Al of the above are correct.

Which of the following sentences correctly uses a conjunction?

A. T'wanted to go for a walk but it started raining.

B. She likes tea, she doesn't like coffee.

C. He is tall and he plays basketball.

D. Neither John or Sarah attended the meeting.

What is the correct form of the verb in this sentence: "If I (be) you, I would study

harder"?

A. Was

B. Were

C. Am

D. be

Which sentence correctly uses a semicolon?

A. Thave abig test tomorrow; I can’t go out tonight.
B. She loves reading; and writing stories.

C. It’s raining; however, we will go for a walk.

D. My brother is studying; he wants to pass his exams.

Identify the type of sentence: "Although it was raining, we decided to go hiking."

A. Simple sentence
B. Compound sentence
C. Complex sentence



D. Compound-complex sentence

III. Read the questions below and answer the questions that follow by choosing the
correct option for each: - (Q.no.26-50)
26. What was wrapped around a palmyra beam on the roof?
A. Cat
B. Rat
C. Snake
D. Leopard
27. One who sells sweets, toffees etc is known as
A. Florist
B. grocer
C. lawyer
D. confectioner
28. An organized journey with a particular purpose is known as
A. blizzards
B. avalanches
C. expedition
D. passes
29. The woods are lovely, .......... and deep.
A. dense
B. bushy
C. green
D. dark
30. Who caught the snake?
A. teacher
B. Kali
C. students
D. principal
31. Who was Lance Naik Hanamanthappa Koppad?
A. A soldier who survived massive avalanche.
B. A soldier who fled the massive avalanche.
C. A soldier who died in the avalanche.
D. A soldier who got lost in the avalanche.
32. What is meant by ‘miniature’?
A. Big
B. small
C. short
D. long
33. Why does the Shepherd wear the Abbot’s gown and cap?
A. To disguise himself as the Abbot



34.

35.

36.

37.

38.

39.

B. He doesn’t have clothes.

C. He likes his gown and cap.

D. He wanted to become an abbot

What did Severn Suzuki start at the age of nine?

A. UN Earth Summit

B. The Environmental Children’s Organisation

C. Animal’s farm

D. Wildlife Sanctuary

"Hari recalls the restaurants of his village Thul and compares them with the Sri
Krishna Eating House..."

What does Hari's comparison of the Sri Krishna Eating House to the restaurants in
Thul reveal about his character?

A. He is indifferent to his surroundings.

B. He has a romanticized view of his past.

C. He is critical of the poor conditions.

D. He feels ashamed of his background.

"T have no money to pay for this food you are giving me... will you please let me work
here?"

Why did Hari choose to work at the Sri Krishna Eating House instead of seeking
another job?

A. He was forced by circumstances.

B. He wanted to earn money for food and shelter.

C. He had no other options available.

D. He felt a connection with the owner.

What did the baby eat?

A. Chips

B. Driver

C. Microchip

D. Bug

"Rupesh interrupted his father, 'No, papa! I don't waste my time; I use Google to find
answers quickly.""

How does Rupesh's attitude towards technology reflect the generational divide in the
chapter?

A. He believes technology is a distraction from learning.

B. He embraces technology as a tool for knowledge.

C. He feels overwhelmed by the amount of information available.

D. He thinks technology should be used sparingly.

"His father worries that relying on Google might hinder Rupesh's ability to think
ndependently."

What concern does Rupesh's father express about the use of Google for information?
A. It promotes laziness among students.

B. It provides incorrect nformation frequently.

C. It limits critical thinking skills.



40.

41.

42.

43.

44.

45.

D. It is too time-consuming to use.

"The poet emphasizes the cruel damage cast by deforestation at the hands of man,
suggesting that trees are our heritage."

What does the poet imply about the relationship between humans and trees in the
poem?

A. Humans have always protected trees.

B. Trees are merely resources for human use.

C. Humans have a responsibility to care for trees.

D. Trees are wrrelevant to human existence.

"Words and phrases like mutilated, lacerated, and their scabs and scars defy repair
convey the pain inflicted on trees."

How does the poet's use of vivid imagery enhance the theme of the poem?

A. It distracts from the main message.

B. It creates a sense of beauty in destruction.

C. It simmplifies complex ideas about nature.

D. It evokes empathy for the suffering trees.

"Sneha's rules for a new religion include the belief that the sun gives us energy and the
earth sustains us."

What does Sneha propose as a fuindamental belief in her new religion?

A. The mportance of technology in daily life.

B. The sun is our father and the earth is our mother.

C. All religions should be merged mnto one.

D. Wealth is the measure of a person's worth.

"Preksha admired how Sneha’s thoughts linked spirituality with the natural world
around them."

How does Preksha's perspective on Sneha's ideas reflect her own beliefs?

A. She completely disagrees with Sneha's views.

B. She believes that Sneha's ideas are too simplistic.

C. She finds inspiration in Sneha's connection to nature.

D. She thinks that religion should focus on rituals.

"He crawls behind the sofa and imagines the place to be a hunter’s camp."

What does the child imagine while crawling behind the sofa?

A. A magical castle filled with treasures.

B. A hunter's camp in the wilderness.

C. A bustling city with people.

D. A quiet library full of books.

"He imagines hills and woods and roaring lions that come to the river bank to drink
water."

How does the child feel about the stories he reads?

Indifferent and uninterested.

Frightened and anxious.

Excited and adventurous.

Confused and overwhelmed.

Sawp



46.

47.

48.

49.

50.

"The Emperor believes that one man's death is better than a million people potentially
dying as a result of his invention."

What moral dilemma does the story present regarding innovation and safety?

A. Innovation should always be encouraged regardless of consequences.

B. Safety must sometimes come at the cost of creativity.

C. All mventions are inherently dangerous and should be banned.

D. People should not fear progress but embrace it fully.

"Who is to say that someday just such a man, in just such an apparatus... might not fly
mn the sky and drop huge stones upon the Great Wall of China?"

Why does the Emperor decide to execute the flying man?

A. He believes the flying machine is too beautiful to exist.

B. He fears the potential destruction it could cause.

C. He is jealous of the man's invention.

D. He thinks it will bring shame to his empire.

"What have I done?" cried the flier, bewildered."

How does the flying man feel about his invention when confronted by the Emperor?
A. Proud and confident in its potential.

B. Fearful of what might happen to him.

C. Indifferent to its significance.

D. Confused and bewildered.

What does the poem "Bharat Our Land" primarily celebrate?

A. The technological advancements of India.

B. The cultural diversity and beauty of India.

C. The historical events n Indian history.

D. The economic development of the country.

How does the poet describe the natural beauty of India in the poem?

A. As diverse and vibrant.

B. As harsh and unforgiving,

C. As monotonous and dull.

D. As chaotic and unorganized.



Jharkhand Council of Educational Research and Training, Ranchi
ANNUAL EXAMINATION
Session: 2024-2025
Answer Key of Model Question Paper
Subject - English
1 D 11 C 21 D 31 A 41 D
2 B 12 B 22 A 32 B 42 B
3 B 13 A 23 B 33 A 43 C
4 C 14 A 24 A 34 B 44 B
5 C 15 C 25 C 35 B 45 C
6 D 16 C 26 C 36 B 46 B
7 A 17 B 27 D 37 C 47 B
8 C 18 B 28 C 38 B 48 D
9 C 19 D 29 D 39 C 49 B
10 B 20 A 30 B 40 C 50 A
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T : 8 o &t g ;16 quties : 50

RIS REEN
o Tty AfEr )
«  FHATH B ERAT 50 8, S A @O (F, @, T, ) H foh E |
o T W o 9N foehed fIU T € W e e I |
o UAH TH HTAF 1 37 fFeifia 2|
o T 3L T IS 37k 1 &I ST |

QU -
AT ver
FrfeTRaa Terter &t e uEs Uget T HEAT 1 - 4 % 7T At 3T 6T oa Y -

dTaelt TR T U IHE SRR 8, o TRt R v off e ST € | 98 R Fifie 6
T STHTETET 1 AT ST 8| STl STeT 20 o 14 N o I o S8 STATEAT TAte- hi GRit
T HATE ST § | 39 Tt SR b1 €T A T A1geh & AT ST & | T 370 = b AHTS hid &,
A HIS TEAd © R TGE SSHI T 3G I 3 |
1. AT T U TRE WA TR sl AT T g 2

(A) et (B)&rett

(C) T&TaTer (D) gt
2. duract fore aEie ¥ TS SATet 22

(A) HT5TS (B) ik

(C) =t (D) AT
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3. SUTAEAT T TGN ohE TeAT T Il § AT STaT 82

(A) SFTET 2107 & S0 i (B) YA SR o STATEAT clted &
(C) i g ht (D) HEIRTety
4. I 14 JEE o TAATHH U ?
(A) T (B) ¥d
(C) T| (D) TRY

o werivr st camges ggaR o EEaT 5 -8 % forg adft SWEHT T WL -
ENESIEEEIRcIR
ot SeT T B HER
T8 & sferd A
SIS Hehe | AT arell
AT T TR A
5. UEIYTH et ehi fehTeRT ST SqTET IT9T 22
(A) & HT (B) Sffer =t
(C) farear = (D) ER{d T
6. Terorer fomm e TR 2
(A) & (B) st
(©) U (D) =R
7. A Uehe W T o fo1u s/t &g afzue?
(A) Tt g & =y (B) S{&-3[& ST Rl S=HT =TT
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(C) ST T TE U T AT (D) haed I ST ST SUANT AT

=g
8. eIt T 9T & foma w1 wreka 2

(A) BRSART (B) U TRL
(C) Tt gamht (D) @eH W
Qs - g
(SFTERTTM)
9. UAYT H RIH-AT HHIH 22
(A) 5% (B) T
OEEIEIC] (D) FHHERT
10. “SATIIT VTeq oAt fareiia s &2
(A) T (B) &1
(C) 3cHT8 (D) wftsm

11. “FerErmera =t wfe - et =T 22

(A) fo=m + e (B) fam=m + et

(C) forar + wrrem (D) forem + &=
12. ‘A’ T UATISATAT 916G HiA-AT 7?2

(A) TSHT (B) T

(C) et (D) T

13. ‘IIFUReAT IToE H HIT-AT IUTT 2

(A) 313 (B) 1
(€))7 (D) ¥

14. it 31 TINE BT TETA T G 3T T 72
A) fradt & B) YT ST
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C) HT BT D) SirgAT
15. ‘USRS’ ShT SRIT o797 & TehaT 22

(A) IsHT B) o

(C) pHA (D) arx

16. “ATIR’ HT ST ET T 22

INELRE B) RIh!
C) TR D) ™1
17. “TTT St SgA Ut 817 39 AT H ATqaTereh €T 9768 i 6T 3 ?
(A) T (B) Tt
(C) dfert (D) sTgd
18. “IA YT WGE HIH|” 36 AT H T AT I F ?
(A) F (B) o
(C) Tl (D)
19, “JH TEA STV T AN AT W i AT 9165 FoRam ot aiver sharem 32
(A)gH (B) sigd
(C) Tt (D) ==t

20. T W TEATAT T fI9THUT 372 T oA i 79E Ueh THHASN ASHhT 21”7
(A) & (B) TTSHT

(C) 993IER (D) T
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QUg - T
(T gEaeh | ufed A

FreaferRaa Terter @t eamgE® gge Ty E@EAT 21 - 24 o forw wdt s waa ol -

I T T ULl 3R TH T o g iefSh % sraeanT o afoe Tas e % o
Faed S T Ert | 30 gfi firer gt off) 2t fewer qat | sreedi @ or | g 9 wiae
AT SATCITH 6 SR Y TR &I oAf | €ie T SISk § STEeAN I &1 o | F+ft e wie s i
Bigeht AT fehet 18 2 | heft oTaT T wie T Sigat STt ST wift <71 Tt § | 371856 Hidt e |
TN deTe e T | T eng B T e R de mgm s E A e em e AT R |

21. IURITH TSN F ieft ST 3% Forer Stigiere ot aui 82
(A) JTTEINT S (B) G 31aT 3Tigie

(C) A 3B (D) YR BTl <

22. A T TR UTe | forar mar 2

(A) STTEANT S (B) 5 1 I
(C) U ! qga™ (D) BIET R
23, TR H i TR Tt O TSN § AT Tk fHetar 22
(A) T o st 1S dTee e T (B) Hie o STEl o |y TadT off
(C) Hie 3T Tt Ueh-gal & | hid o (D) HiZ 3T STt firetert TEd W =ret
wY
24, TE § IS8 Hier et 70’ fehdrent Seora feram mar 22
(A) T & e fired &1 S ECEIRICEIC
(C) TTTEfST 3 SATEIHT ST aieomH (D) ©iZ 3R STt T S 1
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FrfeTRaa werter &t saTgeesh Tget T3 €T 25 - 28 o ToTT WEt 3T T oa+ &Y -

TE e, H G o,

TEAT § TS |
7E el Y- b,
forer =t 1 e |
9TE 8T, THET & 9 T,
TN | ST ST |
e T, Jai o ft W =g,
9 T 33T |
EISGICE LI N
3G TY W AT JH B |
AT+ I 3T e,
S o s K 31 |
25. TEqd SHISET o i B & 2
(A) T et (B) Bfterer T sree
(C) AT =Igerdt (D) Fefetr qqer
26. “3W TA W AT W Uieh” W hidl Forer aor 1 a1a a @ §?
(A) THTT T 9L (B) I& % I
(C) ST T U™ (D) Sefi-mTet T ay
27. “for@ gor ATa R e W Fi R v o1 Seorm W 2
(A) THTET & 99 (B) STEIGT T 9
(C) et T aer (D) I& | T1&1E B 1 qY

28. SR HTTAT ST A WA FTE ?
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(A) AT T &aT (B) TSI Y BaT

(C) St T (D) 3Tk asit
Fraferfiae ot & e ad st T I =Y -
29. BT AR YT AT o FoTT AT o T =Irgar or?
(A) et (B) gaT
(C) T=a (D) |t
30. fiEraT UTe % TEeh T E 2
(A) TH=Is A (B) STIieht SeTq
(C) JmeiE (D) FTRH
31. “gd eI % FEIE AT hl UgAT L o1’ AW AN ol gl AT 2
(A) (B) 7R
(C) foremeff (D) farerer
32. Tk & WIS GTed 399 fehay At a1 & 2
(A) FTE (B) =R et
(OXIEEIS] (D) U= 91
33. VI 3N IHH T WIS Hal @A A 2
(A) TR H (B) THT =X H
(C) A | (D) fortrr & = |
34. “3T9TIeh T ITET - WD hlt TIAT & 2
(A) TTH (B) heHT
(C) THTHT (D) Ferer
35. AHTE 39Tk ¥ ford T ux =reTs <hr oft 2
(A) TTE (B) StemTaT
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36

37.

38.

39.

40.

41.

42.

43.

(C) refeTgt (D) FfeT
I HEWIST <hl ShedT hT T ATH AT ?

(A) faforem (B) ferar

(C) et (D) 4 | I8 &l
‘JTET HT AT F orE BT A war et F oft 2

(A) IS (B) AT

(C) 7@ (D) 3feAm

TGS o US U HeT 7T Shi o1 Toher =g off ?

(A) g (B) g 7

(C) AT 7 (D) fog A

T 3RT9T §AT AW YT 3 Eh BT E ?

(A) BT T fgardt (B) HETER wHTE fgadt
(OERNEIR I (D) YH=ie

ST ATt BT AW UTS W 6 T HSFHe WIIheT A gl =ell T 2
(A) I ST 7T (B) € Ol &1 o T

(C) 9% STt § =T 7T (D) € 39 =X <IAT 7T

THANAATE & TRAT RIS ?

(A) JerdiaT™ (B) Ya™
(C) el (D) STRIE
rauTer fiE Yot et W R e § germ o 2

(A) T (B) G
(C) qau=hll (D) T
T <Y ATAT UTS HET AT E 2
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(A) = (B) ferer
(C) e (D) TTe=h
44, ¥S& 1 FAT HE 8 ?
(A) femem (B) AR
(C) T (D) T=f
45. It gt & g:@ widar it wfoest w2
(A) FRTaS ot (B) GUETHAT e
(C) fader gqe (D) 378 & Ig T
46. T3t R A TaT FA IR RE TS 2
(A) TG STEIATA (B) ufear e
(C) Tk (D) fSmramT
47. SR FAAY 1 gEHR forer forer 2
(A) STET YR (B) ST =1
(C) Rt (D) HETadll gui
48. ToREERT TaTT ATE.U. TH. o 18 off 2
(A) T (B) Framft
(C) gt (D) T
49. TorgR & WYt TeTToh § STRTCT Thel AT oIT 2
(A) wrere &t (B) et &<t
(OEUEIREE (D) B3 Tt
50. I W ATAT H GTNT 3TUH-3TT & <hT &ATST UTHT eITeRt THeT I o 2
(A) forgammr (B) SfchT @M
(C) a9 EIR (D) YLETK
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SIRAIUS ISP 3ol eIlol Bd UlOISIvl ufdug, I

(2024 -25)
UfeIG9l U%I W3l/ Model Question Paper
Dl -8 fder - fdrsirot AHA - | °el QUID - 50
CLASS-8 SUBJECT-SCIENCE | TIME- 1 HOUR F.M.-50

19T fordor :-
* SAUGIWIAPASOUBIE]
o J13ft oot Siforari 21
® UcID Ul P (18 1 3 foreariRasd 1

o URID %I b fewarR [dbcufGusie 8, 38l faddcu ol aricl 2 |
®  3[cId IR P [eTe DIS FBUIcHD 3D oldl 8 1

General Instructions: -

® There are total 50 questions in this question paper.

® All questions are compulsory.

® Each question carries 1 mark.

® Four options are given for each question, choose the correct option.

® There is no negative marking for wrong answers.

1. G&T STa BT (e ToI dHaf 82
(A) T (B) it
(C) ST agat o (D) SuH Tt

Where is the habitat of microbe?

(A) In air (B) In water
(C) On living things (D) All of the above
2. frfaiRaa # i A1 A AosR | therdr 872
(A) Dferay (B) R
(C) & (D) Tt
Which of the following diseases is spread by mosquitoes?
(A) Polio (B) Ringworm
(C) Cholera (D) Malaria
3. JRNSNA o 0T F B Gewioiia Aed 22
(A) TSI (B) Sitaryy
(C) darer (D) BadH

Which microbe helps in the production of biodiesel?

pg. 1 SRS SID 3fofierol Ud Ufdigivr ufdug, Aucit



(A) Protozoa (B) Bacteria

(C) Algae (D) Fungi
4. 77T 5 & T IST IR B 872
(A) SrftaT (B) YT T T
(C) AP (D) $ 9 IE T
Which of the following is the largest cell?
(A) Amoeba (B) Ostrich egg
(C) Mycoplasma (D) None of the above
5. PIFAEHT o foreT TRT H TURTT IR Bl 22
(A) Tsd F (B) PIeT 5T A
(C) PifrepT Ry & (D) 9 & BIS &I
In which part of the cell is chromosome present?
(A) In the nucleus (B) In the cytoplasm
(C) In the cell wall (D) None of the above
6. oy a1 T +ifcrep aeveer geg WU H Bl 87
(A) ST (B) A&
(C) URT (D)
Which metal is in liquid state in its physical form?
(A) Zinc (B) Copper
(C) Mercury (D) Tin
7. TR R & b &1 T SUANT fhaT STl 82
(A) S (B) T
(C) e (D) s
Which metal is used for X-rays?
(A) Tin (B) Gold
(C) Copper (D) Lead
8. SRS & SIIST § fhet &1 bl TreeetT ferrT &7
(A) DRI (B) 39D
(C) I (D) 3R
Which metal is found in abundance in Jadugoda of Jharkhand?
(A) Coal (B) Mica
(C) Uranium (D) Ore
9. G BT g8 0T AT I7e YR TR 1S oIl el &-
(A) T CEEISER
(C) SITeTaae= aT: (D) g
The property of metals due to which they can be beaten into sheets is-
(A) Ductility (B) Bad conductivity
(C) Malleability (D) Flexibility
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10. ST | IHSAT I I HH 1A &1 DI T 87

(A) g (B) URT
(C) @Y (D) AT
Which of these metals is the least conductor of heat?
(A) Aluminium (B) Mercury
(C) Silver (D) Gold
11. FrfeRad o -1 91t IRl &1 pares & -
(A) i T (B) et BT UMl
(C) R=a1 (D) 3TRI Sfel
Which of the following solutions is a bad conductor of electricity —
(A) Lemon juice (B) Tap water
(C) Vinegar (D) Distilled water
12. foplt &1 UR gfew oTq o1 WRa (AU R bl Hfchar el T el &7
(A) FreI oo (B) 3iTarTepRoT
(C) SREenRuT (D) fege 3rqere
What is the process of depositing a layer of desired metal on a metal called?
(A) Electroplating (B) Oxidation
(C) Galvanization (D) Electrolysis
13, F=feiRaa 9 & o™ SR S 8iaT 82
(A) Tl (B) Hgd
(C) ¥R fhar (D) it
Which of the following has internal reproduction?
(A) Fish (B) Frog
(C) Star fish (D) Hen
14, BZST ¥ S T fafer 8-
(A) FgfaTSH (B) Pt
(C) T (D) fafoMo=
The method of reproduction in Hydra is —
(A) Multiple fission (B) Budding
(C) Fragmentation (D) Binary fission
15. T4} I T8 I FHdTs B g1 &b AT IRAUSHT SqTa-
(A) gcdr (B) e
(C) @ (D) 7 A 1S el
With the increase in height from the surface of the earth, atmospheric pressure —
(A) Decreases (B) Increases
(C) Both (D) None of these
16. 19 BT THD FIT 52
(A) UTheT (B) =g Ui & Hiex
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(C) Mt D EEREIERE

What is the unit of pressure?

(A) Pascal (B) Newton per square meter
(C) Both (D) None of these
17. F=ifohd St o -1 Jufdha aaT 2
(A) TocT def (B) eI et
(C) 2R g get (D) TYT §eT
Which of the following forces is a contact force?
(A) Gravitational force (B) Magnetic force
(C) Electrostatic force (D) Frictional force
18. fy=feiRad & o T ueref sresefier 87
(A) ABST (B) BRI
(C) uger (D) weeR
Which of the following substances is non-combustible?
(A) Wood (B) Coal
(C) Petrol (D) Stone
19. Tt yarel & S8 &1 Ui uaref 82
(A) PrET (B) STet
(C) 3ffado (D) BT HFNITATSS
The nutrient for combustion of a substance is?
(A) Carbon (B) Water
(C) Oxygen (D) Carbon monoxide

20. Tt SaTetT BT e 31feIes T 9T i AT 82

(A) & FTERT AT (B) &R 31 BT qFT
(C) &g SRT (D) T Y YT T BY A T 81T &
Which is the hottest part of a flame?
(A) The outermost part (B) The innermost part
(C) The middle part (D) All these parts are equally hot
21, FrfRae o @ I &1 URE Meterr R Rig & Y H e 8iar 872
(A) XX (B) XY
(C)YY (D) XXY
Which of the following two chromosomes combine to form a male child?
(A) XX (B) XY
©)YY (D) XXY
22. T8 AIDS a9 ey HTRIT ST 872
(A) 21 fFFeR (B) 21 ST
(C) 1 fF¥=R (D) 1 S
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When is World AIDS Day celebrated?

(A) 21 December (B) 21 June
(C) 1 December (D) 1 June
23. Rl 7 819 dTet ATRTS TG T AFT JFafer T 872
(A) 22 foF (B) 14 o1
(C) 35 faT (D) 28 f&
What is the normal duration of menstrual cycle in women?
(A) 22 days (B) 14 days
(C) 35 days (D) 28 days
24, FFCIeT SUUT 3 T i BT § —
(A) T (B) IRl
(C) g (D) P el
The image formed by a plane mirror is —
(A) Virtual (B) Real
(C) Blurred (D) None
25. 98 T ST GIE Q@1 W 8T &+ dTel a3l T T g FepelT 2-
(A) IRz (B) frereray
(C) fararqur (D) S
The instrument which can show objects which are not on the line of sight is —
(A) Periscope (B) Kaleidoscope
(C) Dispersion (D) Telescope
26. 3G H YT = ATei Hep1eT fehvll bl i AT el 87
(A) geieft (B) MR
(C) pifr (D) }feT
Who controls the light rays entering the eye?
(A) Pupil (B) Iris
(C) Cornea (D) Retina
27. quf g H 1S ST aTell Qg TaceR 3 kiR Tep thRieT &l e dTel! el PHeetll! &-
(A) & (B) W%
(C) Seted (D) firete=
Crops sown in rainy season and harvested from October to December are called-
(A) Rabi (B) Kharif
(C) Pulses (D) Oilseeds
28. T} BT ISERT B-
(A) =T (B) =T
(C) RrerareT (D) 3TFT%S BT Uter
An example of autotroph is-
(A) Cow (B) Goat
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(C) Cockroach (D) Guava plant
29. BIRCR A GRT BT Y - DT I & —

(A) JaTg (B) HUSRUT
(C) FeT (D) g
The harvesting of crops is done by harvester machine —
(A) Ploughing (B) Storage
(C) Harvesting (D) Transportation
30. IS &R 4 A H Alg, AR, T8, SUE AT el [oxdTs IaT?
(A) 378 PIS QT & Tel &

(B) TS <r&RT H Tyt Aol o fer Iy &
(C) &, &U & *R 3R H el @Y AT &
(D) T & DI< Tt
Why are the moon, stars, planets, satellites not visible at night in big cities?
(A) Nobody sees them
(B) They hide in the electric decorations in big cities

(C) They get lost in the sky filled with dust and smoke
(D) None of these
31. R R BT IE BI &7
(A) T (B) Ih
(C) of¥ (D) 375 | DIS &
Which is the farthest planet?
(A) Neptune (B) Venus
(C) Saturn (D) None, of these
32. Tl fUet bt S oY foed gepTs H HTIT ST 87
(A) UPTT TF (B) Hiex
(C) fopratriex (D) AR
In which unit is the distance of celestial bodies measured?
(A) Light year (B) Meter
(C) Kilometer (D) Centimeter
33. fo5=F Erur Y 3ruer Adf efur & BT 872
(A) T EreoT (B) A= T
(C) ST (D) ST § H P T8I
In which unit is the distance of celestial bodies measured?
(A) Light year (B) Meter
(C) Kilometer (D) Centimeter
34. TR (81/STeT) H T DR dret! e D1 Iford PR S TINUT del _ fopar ST epell
gl
NEIEED (B) &4
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(C) THH (D) T4 A DIs &I
The friction force can be by giving proper shape to the object moving in the
liquid (air/water).

(A) More (B) Less
(C) End (D) None of these
35. o< AT T g UR TRl TNUT ¥ &l AT 87
(A) TP (B) FMHR
(C) AlBIBR (D) FTBR
Liquid friction is less on the object of which shape?
(A) Rectangular (B) Square
(C) Boat shaped (D) Circular
36. i qUf 0 & T ¥eT 5y et Srer 87
(A) X3 (B) RIS
(C) it (D) diforgeex
Which is called the first fully synthetic fibre?
(A) Silk (B) Nylon
(C) Rayon (D) Polyester
37. o o @ Ry eI B T ey aifeies B 2
(A) PuH (B) 1
(C) AIA (D) e
Which of the following threads has the highest strength?
(A) Cotton (B) Wool
(C) Nylon (D) Silk
38. THEHE HHATRAT & HUST IR {hAehT IR TGl 8l 82
(A) HeTrTST (B) sdheirse
(C) dfetiferT (D) Ufelt gt TeiRgS
What is the coating on the clothes of fire brigade personnel?
(A) Melamine (B) Bakelite
(C) Polythene (D) Poly vinyl chloride
39. €Ay Y YT [ HRB R R el 82
(A) 3I1I™H (B) dR<a
(C) TS (D) $F & BIE el
On which factor does the loudness of sound depend?
(A) Amplitude (B) Pitch
(C) Loudness (D) None of the above

40. €afy &Y Ugetar Te & folt &5 eafy & uH -
(A) T JTgRT T 81l (B) T IR FIgT B1IY
(C) BT IR IGHT BRI (D) BT 3T TSHT BN
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To decrease the loudness of sound, we have to -
(A) Decrease the frequency of sound vibrations
(B) Increase the frequency of sound vibrations
(C) Increase the amplitude of sound vibrations
(D) Decrease the amplitude of sound vibrations
41. WTHT €afy &b HUfl Dl AGRT BT &-
(A) 20 Hz 31k 20,000 Hz & & (B) 20 Hz & =}
(C) 20,000 Hz & SR (D) 500 Hz 3iR 10,000 Hz & &7
The frequency of ultrasonic sound vibrations is-
(A) Between 20 Hz and 20,000 Hz (B) Below 20 Hz

(C) Above 20,000 Hz (D) Between 500 Hz and 10,000 Hz
42. Rerex T W vt < arelT 9ed AT RY HHT S & 2
(A)3 TiterdT aretT (B) 4 T aretr
(C)5 dierar aret (D) 7 T 39X 31feres T aretr
On Richter scale, earthquake of which intensity is considered destructive?
(A) 3 intensity (B) 4 intensity
(C) 5 intensity (D) 7 or more intensity
43. IRIHSAIY faege et Tt <t of:
(A) & 7 (B) ST Shepfer o
(C) e A (D) faferr fiesE =
Atmospheric electricity was discovered by:
(A) Thales (B) Benjamin Franklin
(C) Newton (D) William Gilbert

44, BT A TIEI TS WHIEE I Be:
(A) ST ST TS EIFTST bl G-I ©F P JATHIN HRel &
(B) ST & AT R a1eil U 37k WiHTse IS W PIs 91T a1 gedT 8l
(C) XM & TSI €S BT D1 B Pl JATD DRcll
(D) I 3 TSI TS BT Y B DI Ui d Bl 2l
An ebonite rod rubbed with wool:
(A) attracts another rod of ebonite rubbed with wool.
(B) has no effect on another ebonite rod rubbed with wool.
(C) Attracts a glass rod rubbed with silk.
(D) Repels a glass rod rubbed with silk.
45. argHS o o1 AT T gfg A e obY o 81 RET € 2
(A) TR STSINFATSS (B) SIS
(OIS SECICRIEERCREDE EESES]

The increase of which gases in the atmosphere is causing the problem of global

warming?
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(A) Sulphur dioxide (B) Nitrogen

(C) Carbon dioxide and methane (D) Hydrogen
46. gl WR UTS ST alell faenel feifies wich T e &:
(A) 6 (B) 7
(C)8 (D) 10
The number of large tectonic plates found on the earth is:
(A) 6 (B) 7
(C)8 (D) 10
47. TSTES H o U] T &RUT 8 W& 8, ST I HRUT & -
(A) 3T%eT ayT (B) ferarama=
(C) CNG (D) LPG
The stones of Taj Mahal are eroding, the main reason for this is -
(A) Acid rain (B) Global warming
(C)CNG (D) LPG
48. i ggye & 2
(A) DPTFSIZIITTASS (B) HeHR T3 3larTSS
(C) TSI & 3ffaITsS (D) TSHR TG HAISEIN & A
Secondary pollutants are?
(A) Carbon dioxide (B) Sulphur dioxide
(C) Oxides of nitrogen (D) Acids of sulphur and nitrogen

49. TV USTIIT T T 81 3TR TR 81 b 9T PR 82
(i) 3Tarat T faATe (i) US ST (iii) 9 T ARer (iv) feR
(A) (i) 3T (i) (C) (i) 3R (iv)
(B) (i) 3T i (D) (i) 3R (iv)
What are the reasons for the extinction and disappearance of some species?
(i) Destruction of habitats. (ii) Planting of trees. (iii) Conservation of forests. (iv) Hunting

(A) (i) and (ii) (C) (iii) and (iv)
(B) (ii) and (i) (D) (i) and (iv)
50. USIeTIH T b1 AT IcuTe Hgeh R0 & SUAN H T STl & 2
(A) DI (B)
(C) fagf (D) USret

Which product of petroleum is used for road construction?
(A) Coke (B) Gas

(C) Bitumen (D) Petrol

pg. 9 SRS SID 3fofierol Ud Ufdigivr ufdug, Aucit
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SIRAUS IIfEID 3f6IRielol Ud Ufdrgivr ufdug, i, sieds

arftfed udigir- 2025
IS U261 Usl (MCQ)
DEII-8 TdTRL- AT I =iTol QUi — 50
CLASS-8 SUB-SOCIAL SCIENCE FULLMARKS-50

AW fordr ;-
General Instructions:

> el 50 UGl Bl
Total number of questions is 50.
> 3ft usell b 312 siforart 3l
All questions are mandatory.
> UcID Ul & [ee v 3i forerifde 8l
One mark is assigned to each question.
» UcId Ul & dR f[docy i3 s1e 2] 318l fddcu ol RIel DIfSI8] There are four options for each of
the question. Choose the correct option.
> BIcIA IR O o DS 31 o1d] I Sesl|

There is no negative marking for wrong answer.

1. AT o Tgel AL AL i o?

(@) =< FraTIoE (b) TS TwEISH
(c) @IS AT (d) ame e
Who wasthe first Governor General of India?

(a) Lord Cornwallis (b) Lord Dalhousie
(c) Lord Mountbatten (d) Warren Hastings

2. e FATS F LT T AT 9T F49 1 [ower B gyt oft?

(a) 3 firer (b) =feT gfedwa

(c) AT FHATH (d) S+ =

To whom did Lord Clive design the responsibility of preparing the map of India?
(a) James mill (b) Warren Hastings

(c) Lord Cornwallis (d) James Rennell

3. T g2 Aifa fhae &= #?
(a) 1€ FraTlorE (b) TIE SerETSIT



OEISCEEEIl (d) FE ATSeeT

Who started the Doctrine of Lapse?

(a) Lord Cornwallis (b) Lord Dalhousie
(c) Lord Wellesley (d) Lord Mountbatten
4. 3ET &Y aHRIa: faa dreRauet A dier TR 2

(o) T (b) IR

Ok () T

History is generally divided into how many periods?

(a) Five (b) Four

(c) Two (d) Three

5. Ic fafera™ el ford =g & o= o »

() X (b) HGA

(c) Pefbl REIEIET

Fort William Fort was built in which city?

(a) Surat (b) Madras

(c) Calcutta (d) Calicut

6. 1 GoarT gl T AT AT

(a) ST OEER)

(c) T (d) EFTTETE

Tipu Sultan was the ruler of?

(a) Bengal (b) Awadh

(c) Mysore (d) Hyderabad

7. YRd F 30T gRT frd ®ae o1 Wil for a1 & STaRA HRrdl Siredt ot -
(a) 8T (b) et

(o) T ORH



Which crop was forcibly cultivated by the British from the farmers in India?

(a) Paddy (b) Indigo

(c) Sugarcane (d) Wheat

8. et fereire el gatr om?

(a) 1831-32 %o (b) 1855 Zo
(c) 1895 £o (d) 1857 To

When did the Kol rebellion take place?

(a) 1831-32 AD (b) 1855 AD

(c) 1895 AD (d) 1857 AD

9. AT H Tgel Fel FA=T (e gl =i g2?

(a) F=TH (b) 72

(c) &I (d) Tz

Where was the first cotton textile mill established inindia?

(a) Madras (b) Mumbai

(c) Bengal (d) Surat

10. 1857 ¥ FiT T Agca L=T | (e [haT?

(a) ferETH=T (RECGIRRUFET
(c) Frzeg-arg (d) frerrar- et
Who led the revolt of 1857 in Ranchi?

(a) Birsa Munda (b) Vishwanath Shahdev
(c) Sidhu-Kanhu (d) Nilambar-Pitambar
11. FYTd, H3T 3R IR [ o9 &1 g SiHolaal g 2
(2) STR T ) foER

(o) fRHTEaT =T () IRV

Santhal, Munda and Oraon are the major tribes of which state?

(a) Uttar Pradesh (b) Bihar

(c) Himachal Pradesh (d) Jharkhand

12,1857 5. & fAGI8 T dlchIielcs HIRUT & UT 2
(a)aaﬁm%rﬁmnﬁ (b)@ﬂ%ﬁﬁw



(©) G AR faa=T ST (@ TS AT BRI DT HHATE

What was the immediate cause of the revolt of 1857?

(a) Prohibition of beard (b) Not getting leave
(c) Going abroad for war (d) Using fat cartridges

13. fob g GATAS b1 HRCTT FRI&M T AATHTET BT SIS 2
(a) 1835 o1 fRren sifefaag (b)@%ﬂ%ﬁir

(© 13IR 2 &1 @ STH Y Blg Aol

Which document isknown as the ‘Magna Carta’ of Indian Education?

(2) Education Act of 1835 (b) Woods Dispatch
(c) Both 1 and 2 (d) None of these
14, AT TAT 37 T HIA T 9T FHqH01 22
(a) TS AT (b) ATE TSt
(c) AT FTHATH (d) =1t faferaw dfew
Who is credited with abolishing the practice of Sati?
(2) Lord Canning (b) Lord Curzon
(¢) Lord Cornwallis (d) Lord William Bentinck
15. 390 A P T-YSY e TS &b USRI Jrafia ge
(a) ARTSTS 1RQ (b) SRS Gl

BLISHIRECIH (d) BRI QRET
Which of the following is relatedto the publication of the book 'Gender Comparison'?

(a) Tarabai Shinde (b) Jyotirao Phule

(c) Pandita Rambai (d) Harvilas Sharda

16. B3 foreram qAfdarg sfaf=am e au arg ge

(@) 1829 To (b) 1872 T o

() 1856 To (d) 1899 To

In which year the Hindu Widow Remarriage Act came into force?



(a) 1829 AD (b) 1872 AD

(c) 1856 AD (d) 1899 AD

17. AT FATST T =T R 9

DELEREFE:E] (b) TATHT faswTHE
(c) TATAE TTEAAT (d) TTSIT TR T
Who founded the Arya Samaj?
(a) Keshav ChandraSen (b) Swami Vivekananda
(c) Dayanand Saraswati (d) Raja Ram Mohan Roy

18. ST TSI 3 FHT AT T T TALA i IT?

(a) AT sl OEIEIEE
OEIEHEE] (d) =< wieTy

Who was the Governor General of India at the time of Bengal partition?
(a) Lord Curzon (b) Lord Minto

(c) Lord Irwin (d) Lord Montagu

19. P9 T T 5T < 3rRd wifd” & TH A Y ST g 2
(a) AT (AT M (b) TSN TR AT
() HRd BT 3T Ia o FIamma sr<iaq

Which of the following is also known as 'August Revolution'?

(a) Civil Disobedience Movement  (b) Non-Cooperation Movement

(¢) Quit India Movement (d) Khilafat Movement

20. YRWUS & DI I §leb! RAATS! 7 YR B! SNaies, fayery vd TR Qa i+ o
Uesd feam et I F JeR Q2

(a) ST Rig gal (b) HIZ®Hd fdoar
() Fa®I gem™ (d) 37T DSl

Which hockey player from Jharkhand has made India olympic and Asian Games all three? Who is a member of the

medal winning team?
(a) Jaipal Singh Munda (b) Michael Kindo

(c) Nikki Pradhan (d) Ajit Lakra



21. IS P Gl a TR Ug o are Ugal eI H I A1 g 2
(a) SHRBT (b) EiG|

(c) HRd @ =Y
Which is the first country to reach the south pole of the moon?
(a) America (b) China

(c) India (d) Russia

22. U] I fpg PR b 1Y HTIERUT g 2
(a) STAIHUNT T (b) TAIHRUNT T

(o HFa Afdd g (&) THTS Y
Wind mill is an example of which type of resource?
(a) Non-renewable resources (b) Renewable Resources

(¢) Man-made resources (d) Potential Resources

23. FIAT o THTE T THTET 2
(a) TARTOT (b) =TT BEEE] (d) St

Coal is what type of resource?

(a) Renewable (b) Cyclic  (c) Abiotic  (d) Biotic

24, TS FHTee T IUANT 37T ST w27 21 aur ey g of v ST 27 3% "9ras 7 4T Fwd

(a) FATST (b) ATEET

OEEIG] (d) ufaEaaefier

What is a resource called which is being used and whose quantity is also known?
(a) Potential (b) Actual

(¢) Unknown (d) Variable

25. ATREE § Roq THATT TEA AT IqeAT A9\ e ol orer / 82
(a) TATH ORERE
(c) AR (d) TTHET



In which district is 'Betla National Park’, the only national park situatedin Jharkhand?
(a) Palamu (b) Simdega

(c) Latehar (d) Gumla

26. HRA & 3IRe Told 1sro (GO GRT 3+ 8T 81 A 1 1 frr dgd R guherd]
Tdeh I HT IR Nl T

(2) IS -2 o) 32
(©) IS -3 @ e

Which mission was successfully sent to the moon by India's space agency ISRO recently?

(2) Chandrayaan-2 (b) Agni-2
(c) Chandrayaan — 3 ) Aditya

27. A IR IUAK] Hd STt b1 o1 Ufar=ra o= i g
() 30 fTRIA () 1s Hfo=Ta

(©) 27 UfaRrd (d) sﬂﬁ@[aﬁéﬂﬁ

What percentage of the total water available on earth is potable?

(a) 30 percent (b) 15 percent
(c) 2.7 percent (d) None of these

28. A 1Tt faep T o1 for o graifia & -
(@) S BIUSE b) AFHIY

ARl FIRATHET (o Hgaaa
Pradhan Mantri Kaushal Vikas Yojana is related to which of the following?

(a) Children's Education (b) From the soldiers

(c) Skill Development of Youth (d) All of the above

29. 578 Y DI T B B! b THT Hel Sdl 82
(@) SIS (b) U
(c) hUNH (@) dldd

Which of the following crops is called white gold?

(a) Jute (b) jute



(c) Cotton (d) Rice

30, TP R [P AT A grafia g

(a) 3R ITGA (b) XRTH TG
(¢) HYARI! T (@ Bl I Wt
What is apiculture related to?

(a) Grape production (b) sericulture

(¢) Beckeeping (d) Floriculture

31. 370 A TRIATYREd & BRI 52
(a) STHGR (b) YR

(©) JaN (@ SUgad Tt
Which of these is due to population change?

(a) Birthrate (b) Death rate

(c) Travel (d) All of the above

32. STOTT FolT o ICATEA o (o1 = | & Foheent ITTRT R Strar g2
(a) TIATH  (b) FAT (o) T (ORER

Which of the following is used for production of atomic energy?

(a) Uranium  (b) Coal (c) Water  (d) Wind

33, 3T AT A § ST H1U & F7E A0 F S| 14T 82
(a) TEET (b) FremT (c) TTT (d) ==

By what name is shifting agriculture in north-eastern India known?

(a) Ladang (b) Milpa (c) Roka (d) Jhum

34.2011 T STRTOTAT o SAHTY WL T SIAEEAT HAqcd ohadT g2
(a) 314 (b) 382 (c) 414 (d) 350

What is the population density of India according to the 2011 census?

(a) 314 (b) 382 (c)414 () 350

35. IR 38 ToTe it arfere foam 22



(a) ITATHE ORESIRE?
OKEIRED (4) =Tqer®

What type of economic activityisindustry?

(a) Primary (b) Secondary

(c) Tertiary (d) Quaternary

36. WL U 99 Y e oA

(a) 15 3T 1947 (b) 26 STALT 1950
() 2 FFZAT 1869 () 15 TEAST 2000
When did India become a sovereign nation?

(a) 15 August 1947 (b) 26 January 1950

(c) 2 October 1869 (d) 15 November 2000
37, TR gTT Y& At TRt il 9T Fhawr 82

@) 7 (b) 6 ()8 d) s

What is the number of fundamental rights provided by the Constitution?

(@7 (b) 6 (©8 (5
38, 3TSITET & 9I¢ R A fh g I8 Bl UM UG Id B U=
(a) ASTAATH D U UG fdl b) SIS A

(¢) &N AT TSI (@ SUgad Taft

What type of governance system did India adopt after independence?

(a) Monarchical form of government (b) Parliamentary rule

(c) Presidential form of government (d) All of the above

30, R Tfaem e & @WW%‘?

() UHTRTE ) fp el U 4 b ufa e

© TBIRh g Ui b AT IDAE () TTHADIS I8!

How is the Indian constitution regarding religion?
(a) Secular (b) Bigotry
(c) Only people of Hindu religion can live here (d) None of these

40. HRT B UYH AR guH &1
(a) TR AT (b) U HT <t g utfed
(o) TfTTTITER (@) ST TeR

Who was the first woman prime minister of India?



(a) Sarojini Naidu (b) Pratibha Devi Singh Patil

(c) Sonia Gandhi (d) Indira Gandhi
4 TRBR B Sgfaemsii & fore T el 4 o g
(a) Y (b) adrg

© gl @ STHADIS TR

Where does the government get the money for public utilities?

(a) Tax (b) Farming
(c) From police (d) None of these
22, 378 Y S YR Hga ol 3T Y efdrd 8

(2) HOTHAT, TTTH Td gerTet (b) YT, TG H], fae=gHT
() B H], T HI, TUT AP @ STHYDIS TaT

Which of the following is related to the three organs of the Indian Parliament?

(a) ChiefMinister, Prime Minister and Prime Minister
(b) President, Rajya Sabha, Legislative Assembly

(c) Lok Sabha, Rajya Sabha, and President

(d) none of these

43, ATHTAT H qIET1 6T Atershan a1 Fohawr i #7182

(a) 543 (b) 545 (c) 552 (d) 250

What is the maximum number of members fixed in the Lok Sabha?

(a) 543 (b) 545 (c) 552 (d) 250

44, ATTAT LT o 369 =g o T SAEYLAAT HT I+qA (AT AT 82
(a) 17 (b) 15 (c) 29 (d) 30

By which article of the Indian constitution untouchability has been abolished?

() 17 (b) 15 (c) 29 (d) 30

45, FIA-ET AT TS AIGATSN T (79[ TACTSIT () FelarerTd ITAsH FHLTd & HaATed 82
(a) TETAHAT FLEAT FTHT TTSIAT (b) TEATTHAT STra ST TSI
(c) T AYfg AT (d) TLTAHT ISqAT TS0

46. SR T = AT} D el TS fbail g 2

(a) 24 (b) 22

©) 16 d 14

What is the total number of High Courts in the country?

(a) 24 (b) 22

©) 16 d 14

47. FIRAWP. 33, 3R ) HTHd BIH T8I 82
(a) P SAHHLARTE b PR AR ROE
(c)WU?IﬁQI?ﬁ'Cﬁ'é (d Sﬂﬁﬁﬁé:ﬁﬁ

What is the full form of FIR?



(a) First Information Report (b) First Investigation Report
(c) First Formation Report (d) None of these

4. O GG S TS, 311 & BRI # Iie g €, T8 e & ot i
9Teg Ugad [T 1T 82

(a) FHTSHTHRUT (b) BTRATHRT

() SIYRIT @ FTH Y PIS T

Which termis used for the communities which are left behind in development due to poverty, illiteracy?

(a) Socialization (b) Marginalization
(c) Untouchability (d).None of these

49, ALHTT F TFT | FATHT THEATSA il [T o [T Teh godd Tz a7 & AT g =9
ATSTE GoTATSH T Ha¥ FT 82

(a) 1091 (b) 1967 (c) 1098 (d) 1950
The government has started a helpline number to complain about problems relatedto children. What is the number
of this child helpline?

(a) 1091 (b) 1967 (c) 1098 (d) 1950

50. o dam Ao faaw e fafer 61 s smar 22

(a) 31 AT (b) 31 91
(c) 31 ATH (d) 30 T
On which date is World No Tobacco Day celebrated?

(a) 31 July (b) 31 May

(c) 31 March (d) 30 April
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